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The ﬁgures in the margm md:cate ﬁJH marks
: - for the questtons

1. Choose the correct answer: 1x8=8

(a) From a socaal pomt of v1ew, the efficient
level of output is the level at which

iy the price of th_e product is equal to
the marginal sdciéj'-c‘ost o

(u) “the price of the product is equal to
- the marginal cost. o

-ifi} the price of the product is equal to
the margmal ‘external cost

At margmal social. benefit is equal to
margmal cost '

P23/1192 ° | ( Turn Quer )



)

{c)

dn the Bertrand model

i} tiwo Frms «cHoose quantlty -4t - the
same time

. {ti} two .firms chooese price at the same
‘time

‘(i) “bwo Firtmis ‘choose ‘price .-makzauétpm
‘gt ‘thie ;same time -

‘fiv) None of 'the abeve

A mompehet ‘produces s quantmy -Gf

‘output in

-fi) inelastic .porti'on -of the demand

curve
f"‘fii) f-ei'aiéitic :portion efithe: 'de-man' niel : curve

(m} -at ithe poitit «where elastzctty is
equal to one -

.(w) at a poznt where pr1ce eIastxcn:y is

{d)

itrifinite

Which of the following is. not correct

about patents?

+{i) ‘Patents sstimulate ‘inhovation

{ii} A patent-is-a:barrier to"entry

: -?(u:) Patents -enable a firm' to be

o fiv) Patents encourage mventlon of new"

P23/1192

permanent ‘monopoly

products

{ Continued )

- P23/1192

{e) - The firm’s degree of monopoly power

depends on
(i} the numb_er of buyers
{ti} the number of e_eli-ers

(ii)} the elasticity of market demand

- fiv) All of the above

Find out the appropriate statément of

'moral hazard from the following :. .

'. (I) a. moral hazard problem arises

* when insurance- companies cannot
monitor individual dnwn_g habits

(7)) a meoral hazard pi-oblem ‘arises
when ' insurance caompany can.
monitor individual driving: habits -

fiii) a moral hazard problem arises

"~ when insurance ... company -
-authorises a third party to monitor
individual driving habits '

fiv} None of the above-

{ Turn Over )
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( 4 )

{g) .The two. main contnbutors of neo-

classmal welfare economics are
{i} Arro_WfP_a'reto

{t't') Mar_shallu—Pigoa

(m) Kaldor——chks |

{w) Bergson—Samuelson

{h) A merger is termed friendly’ if
"{1')' i't"is s’upported by the government
{u} it is supported by the management
(m) 1t is supported by the consumers

| (iv) N_one Qf the above

2. Write short notes on any four of the

followmg 4x4=16

_-{a) Market mgnalmg
(b) Peak load pricing -

{c) Equity and efficiency.

( Continued )

(d)

(e

(@

{b)

4 fa)

{b)

P23/1192

Sticky price -
Concept of Nash ec;u111br1um

Cartels

“The most common definition of public

- goods stresses two attnbutes of such -

goods.”

fiy Mention the two attnbutes and
describe them.

(i) Explain with example the rela-

tlonshlp between the two attributes.

6+6=12"

- Or

What do you understand by asymmetric
information? Explain the hidden _aCtion
model of asymmetric’ information. 4+8=12

_ Define game theory. Explain its impor-

tance and application in economics.
' 3+4+4=11

Or

Explam Pr1soners Dllemma (normal
form) w1th ‘the help of an example. 11

{ Turn Quer )
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5. (a) Statethe main features of the Bergson- ' ' o
Samuelson Social . Welfare function. o _ o -
 Explain the  Lipsey and - Lancaster : {b} Define excess capacity of a. firm
" theory of second best.with the help of & ' Explain excess capacity of a firm with
~ diagram. . ' . 5+6=11" - the help of ‘a ‘diagram. -State ..olﬁ
_ a; relevance .of excess -capacity. _2+7+52=.1 1
or _ _ _ :
_ _ _ |

(b) Compare and contrast between equity | Radalat

and efficiency with the help of a

diagram. 11 |

6. (@) What do you understand by price
" 1eadership?. What are ‘the different P
types of price leadership models? N
Explain with the help of a diagram the : '
price and output determination under ' 3
dominant price leadership. 2+2+7=11 ' ‘

or

(p) What do you understand by oligopoly? ;
' What are the different types of |
oligopoly?  Describe the  different |
characteristics of oligopoly market. _ !

T 2+3+6=11 |

7. {a) What is price discrimination? Explain, - |
-~ with the help of diagram, price and i

. output ‘determination in a - price |

. discrimination -monopoly. ~ ' 2+9=11 |

'P23—4500/1192
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ECONOMICS
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Paper 0—9
( Advanced Macroeconom:cs )

Full Marks 80
Pass Marks - 32 _

‘_ fﬁme 3 hours

The ﬁgures in the margm mdroate ﬁ.df marks -
- for the questlons '

1. AnSwer'the followmg' as. d1rected.-"“- . 1-><8=8

(a) Deﬁne margmal propensxty to consume
(MPC). :
(b) '_'If consumpudn "iﬁcreaseé 'from 500 to.

800 after an increase in’ ‘income from
1000 to- 1500 then MPS is equal to

(i) 0 60
it} 0-40
{iii} 0-75 .
iy 025 s o
7. (Choose the correct answer)

| P23/1149 - S 7 { Turn Over )



o) Harrod Doma.r “model of economic

growth is based on the equ1hbr1um
between o :

i) income ge_r__l;eratlon and -ereation of
productive :capacity _
(i) savings and investment -
' fiii} income and consumptlon
fiv) consumpnon and savmg
(Chobse the correct answer)

- (d) - .

.. fe) . E
o is horizontal-
is vertical s '
is perfect]jci"- - interest

(zu) mvestrnent
_elastic

: ! urve . is steeper then
- following - an expansmnary ﬁscal
: pol1cy i :
o (i)' 'output resj
' mterest rate -~
: (u} ‘both output and mterest rate
change proportlonately -
(III) only outpute changes :
(w} change in.finterest rate is large
relatwe to’ the change. in- output '
{Choose the corréct arswer)

nse is 'moré.f- than the

 P23/1149. . 'ff . { Continued )

{9)

)

2. Write short notes on any four of the
' following (within 150 words each) : 4x4=16

{a)

o
e

(@)

(e}

- does the permanent income ‘hypothesis

(b)

4, {a)

o)

P23/1149_

- Assumptions’ of the  Harrod-Domar .
‘growth model and their implications

i) Explam the Q-theory of mvestment

-rate, warranted. growth rate and. actual

“The Keynesian: school  of econormc_
thought is all about -supply side

gconomics. (Write True: or -Fals'e]
What does the Laffer curve show?

Keynesian consumption functlon and
its - features '

The accelerator theory of mvestment

Lags in the- effects of macroeconomxc'
policy o
Features of - supply side econormcs

Eluc1date the’ oonsumptxon puzzle How

resolve the pazzle? Explain. . - 4+7
or ' .
(1} What is.an 1nvestment funct10n°
D1st1ngu1sh between - business
fixed 1nvestment and res1dent1a1 -
investment with examples o245

4

Explaun the concepts of natural growth

growth rate. What would happen  if all
these growth: rateés are not equal?  6+6'

Or .
stcuss the' effect of populatlon on
economic growth in ‘the hght of the _
Solow model. of growth o - 12

{ Tum Over) = -



5 (@

(b)

6. fa}

o)

(v

(4}

' Elaborate the notions of neutral te_chn.'o-'
logical progress, capital augmenting

technological - ‘progress, .and labour
augmenting  technological - progress: _
What type of technological progress

- would you advocate for a- developmg
country and why? - 7+4

. “Or L

i) How are changes in saving ratio
‘related to economic growth? Does
higher saving ratio imply faster .

economic growth? Explain. 4+4
i) How  is endogenous growth model
dlfferent from the Solow model? 3
{1) Describe bneﬂy the ob_]ectlves and
_ targets of monetmy pollcy 7
() What- is  meant by budget o
' constraint? = - _ . | 4
. “or. _ :

‘Discuss the factors théf determine the
' effectlveness of fiscal pollcy 11

7. )

) Hlustrate . the meanlng of  full

employment. What is the mechamsm
that ensures full employment in the -

classical school? © How do the
Keynesians ~criticize the - classical

though‘t?' o 34543
- or -
Define | ratlonal expectatmns Dlscuss :

- the major policy implications of ratlonal r
'_-expectatlons hypothems ' - 348

***
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Paper : C—10
( Introductory Econometrics )

Full Marks 80
.Pass Marks : 32

- Time : 3 hours _' | = '

The ﬁgures in the margin mdtoate ﬁlﬂ marks
' for the questtons

1. Choose the correct answer: o _ | 1x8=8
{a} The property of minimum vanance of
estimator is known as
- i) cons:stency
(i) efficiency
{iii) inbiasedness
{iv} suﬁ'icie_ncy

(b} Probablhty of Type I error-is
7 Degree of freedom '
- {ii) Level of significance
fiii) Confidence interval
- {iv) Standard error

P23/1150 - { Turn Over ) -



(c)

(@)

(e

(2 )

The coefficient of determination value
lies between '

(i) -1 and +1
fii) -1 and O
(i) 0 and +1
fiv} None of the above
ANOVA model cons1sts of
{i) quantltatlve explanatory vanables
{ii} quahtatnr_e explanatory variables

fiii) both quaﬁtitative and qualitative
explanatory variables

{iv) None of the above
The assumptid_n of constant variance of
the residual is known as

fi} heteroscedasticity

) fii) homoscedasticity .

P23/1150

(iii) Both (i} and (i) are correct

fiv} Both (i) and (i) are wrong
Which of the following is not a source of
multicollinearity?

(i) Method of data collection

fii) Model and population constraints
{ifi} Incorrect transformation of variables -

fiv) Lagged explanatory variables

{ Continued }

(g}

()

(3 )

Durbin-Watson d-Test is used to detect
{i) multicollinearity '

(i) heteroscedasticity -

{iti} autocorrelation

fiv) All of the above

If a qualitative variable has 6
categories, then we have to introduce

i) 6 dummy variables
(i) 7 dummy variables
{ii) 5 dummy variables
fiv) 4 dummy variables

2. Write short notes on any four of the

following :

{a)
(b}
{c)
~ (d)
(e)

3.. fa)

4x4=16
Properties of normal distribution

Aims of econometrics

F-distribution

Dummy variable trap

Errors in variables

Define - the principle of ordinary
least squares. For the classical two-
variable linear regression model
Y; = By +BaX; +ut, derive the. estlmator

2+10 12

of pyand B,.
(b} State and prove  Gauss-Markov
theorem. _ 12
P23/1150 { Turn Over



4. (a)
(b).
5. {a)
(b)
6. {a)
(b}
7. (@)
(b)

P23—4500/1150

| Explain the significance of the eiror

term in a regression model. Write the
full form of CLRM. Discuss the various
assumptions of two variable’ CLRM.

- Or

'What is coeffi(:lent of determination,

R%2? How 1s it computed? How 1s
adjusted R? more desirable than R?

3+1+7=11

as a goodness of ﬂt? L 2+613=11

Explain . the  concept of hetero-

scedasticity. Analyse the consequences

of heteroscedastu:lty S : 5+6=
Or '

Explam the concept. of autocorrelation.
Discuss the various tests to detect the

_problem of autocorrela’uon _ 5+6

Explain the concept of mulncollmeanty
Discuss the various. sources of

~muiticollinearity. T 5+6=

Or .

Explain brieﬂy how mulncolhneanty
can be detected. Discuss various
remedial  measures ‘to . remove . ‘the

problem of multicollinearity.. 5+6=

-Deﬁne specxﬁcatxon error. Discuss its

various types. o _ 2+9=
o

DISC'LISS _ various tests that are

.commonly used to detect speozﬁcatlon o

error.,

¥ K

11

11

11

11

11

11
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~ Full Marks : 80
Pass Marks : 32

"Time : 3 hours

The ﬁgures in the margin md:cate Jull marks
Jor the questions

UNIT—I
1. Answer any one of the following: 15

fa)j Write a comprehenswe note on the

' features of Restoration Comedy with
reference to Congreves The Way of the
World.

(b} Exzamine crit_ica.lly the significance of the
~ title of the play, The Way of the World. -
{c) Discuss the stages through which the
central theme of ‘the relation of the

individual to society’ is developed in
- The Way of the’ World

P23/1151 : : { Tum Qver }
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2. Answer any one of the following : 5

{a) Critically analyze the following lines :
Mirabell : I took her to pieces; sifted
her, and separated her Failings; I
study’d ’em, and got ‘em by rote.

(b) Wnte a brief note on the significance of
the ‘proviso scene’.

fc¢) Attempt a brief character sketch of
Lady Wishfort,

UNIT—II

3. Answer any one of the following: 15

{a) How does Gulliver's account of the
long-lived Struldbruggs deal with the
problem of desire? Can we derive the
cause of human folly and failure from
this account? Discuss.

(b) What view of humanity emerges from
the comparison Gulliver is forced to
make between himself and the Yahoos?

In what ways do the Yahoos differ from
the Europeans?

fc) How does Swift criticize Ieammg,
politics, religion and human society in
Gulliver’'s  Travels? Discuss with
reference to Books III and 1V.

4, Write a short note on any one ‘of the :
following : : 5
fa) Houyhnhnms
(b} -Philosophy of Lagado Academy
{c) Gu]hvers quahtnes as a narrator -

P23/1151 { Continued )

( 3)

Unit—II

5. Answer any one of the following: 15

fa) Examine Samuel Johnson’s London as
a social satire,

{b) How does the pastoral setting affect the
speaker’s emotional state in the poem,
Elegy Written in a Country Churchyard
by Thomas Gray?

fc) Write a comprehensive note on the
features of 18th century poetry with
reference to the poems prescribed for
you.

6. Answer any one of the following : | 5
(@) Explain with reference to the context:
Can storied urn or animated bust

Back to its mansion call the
fleeting breath?
Can Honour’s voice provoke the silent dust,

Or Flattzy soothe the dull cold
ear of Death?

(b} Expiain with reference to the context:

A transient Calm the happy Scenes bestow,
And for a Moment lull the Sense of Woe.
At length awaking, W1th contemptuous
Frown,
Indignant Thales eyes, the neighb’ring
- Town.

 P23/1151 . :  { Turn Over )



{4

{c) Write a note on Gravey'ard School of
Poetry.

Unr—IV
7. Answer any one of the folloﬁving 15

{a) How does the fragmented narrative of
Tristram Shandy capture the incoherent
and illogical nature of human thinking?
Discuss with instances from the text.

(b) Examine the structure of Tristram
Shandy highlighting the typographical
unconven-tionality like dashes,
exclamation marks, blank pages, figures,
-preface in the middle of the book, and
other such expenments in the novel

{c) Critically analyze the use of comedy in
Tristram Shandy. How is the comedy
related to the various . themes of the
novel? .

8. Answer any one of the following : . . 5

(@) Write a brief note on the use of itagery
of the clock.

(b} Write a ..sh_ort note' on the role of
o Eugenius and Jenny- '

{c} Attempt a brief note on the theme of
association of 1deas

* ek

P23—5000/1151 4 SEM TDC ENGH (CBCS) C 8
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The ﬁgures in the margm mdzcate Jull marks

Jor the questzons

- UNiT—I

1. Answer any one of the following questions :

fa)

{b)

fc)

Attempt an analysis of William Blake’s
poems prescribed for you.

Examine Robert Burns’ Scots Wha Hae

15

as a  voice against slavery ‘and =

oppression.

Do you consider Robert Burns’ A

Bard’s Epitaph as. a pessimistic poem9 _

Substantiate  your  answer. with
examples from the. text..

P23/1152
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(2 )

Write a short note on any one of the following :

{a) ‘The theme of Introduction’ to the Songs
' of Innocence

(b) Irony in The Chimney Sweeper poem
: from Songs of Experience

{c) The social, concern in pre Roma.ntlc
poetry

Unit—II

3. Answer any one of the following questions :

fa) Do you consider Wordsworth’s Tintern
-~ Abbey as a nature poem? Discuss.

(b) Attempt a critical appreciation of
Coleridge’s poem, Kubla Khan.

{f¢) Examine Coleridge’s Dejection : An Ode
‘as a poem that expresses dejection
due to the 1nabzl1ty to write poetry or
appreciate nature.

4. _Wr1te a short note on any one of the

following :

{a} Memories of oh1ldhood in Wordsworth’
Tmtem Abbey

{b) The two s1gnzﬁoant images in Colendge s
poem, Dejection : An Ode - '

5

15

{ Continued )

( 3)

UnNIT—II

5. Answer any one of the following questions :

{aj Examine the thematic concerns in Lord
Byron’s Childe Harold : Canto III

{b) Assess the Shelley poems prescribed
for you as poems of reform and
revolution. '

fc} Attempt a critical appreciation of any
one of the following Keats’ poems :

" fif Ode to a Nightingale
fiij On First Lookmg into Chapmans _

Homer
6. Explain with reference to the context any
one of the following lines :
fa) A heavy weight of hours ‘has chain’d
_ and bow’d
- One too like thee 1 tameless, .and
: ~swift; and proud.
(b} Forlorn! the very _\word is like a bell
To toll me back from thee to my '
sole selfl
{¢) And on the pedestal, these words
' appear :
My name is Ozymandias, King
: of Kings;
Look on my Works, ye Mighty,
and despaurl
- P23/1152 { Turn Over )



UNIT—]V

7. Answer any one  of the followmg questlons 15

fa} Examine Mary Shelleys Frankenstem
as a Gothlc_ novel,

(b) Make 'an_ asseesment of Mary Shelley’s
Franker_zstein as a scierice fiction.

fc} Attempt a critical’ understandmg of the
ending of ankenstem '

8. Answer/Write a short note on- any one of the
followmg : 5

‘fa} Comment on the subtltle (The. Modern
Prometheus) of Shelley’s novel
Frankenstein. - - S

(b} Theme of Nature vs. Nurture as 1mp11c1t
in F‘rankenstem = :

{c) B Isolatlon as a theme in Frankenstem

(d} 'Character of V1ctor Frankenstem

P23---5000/1152 4 SEM TDC ENGH (CBCS) C 9
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The ﬁgures in the margm mdwate ﬁtu marks
. for the questtons _

| Ulﬁl_fjl .

1. Answer any one of the following : 15

fa} “It was wrong to marry for money, but
it was silly to marry without it.” Does
‘this observation fmthfully “describe
issués ‘of social class as deplcted in
Pride and Pre1udtce9 Dlscuss '

‘(b) Critically comment on Jane’ Austen s_
portrayal of love a.nd ma.rnage in Pnde
- and Pre;ud:oe Sl i

P23/1163 . ~ (Tum Over )



(c)

(2)

Critically examine the treatment of
provincial life in Pride and Prejudice.

2. Answer any one of the following :

(a)

(bj

Write briefly on the issue of social
mobility through marriage as depicted
in Pride and Prejudice.

Write a short note on Elizabeth Bennet

and her fiercely independent spirit as
reflected in Pride and Prejudice.

UNFT—I1

3. Answer any one of the following :

{a)

(b}

Critically comment on the
representation of women characters in

- Jane Eyre

Discuss the narrative voice and
technique in Jane Eyre. '

Discuss criﬁcally the supernatural
events in Jane Eyre. :

4, Answer a.ny one of the following :

15

{a) . To what. extent. do you think Bronte
.. presents Rochester as a character who
deserves his fate? -
{b) Discuss the mgmﬁcance of the fire in
_ .Jane Eyre. _
{c) Briefly dzscuss the character of Bertha.
' P23/1153 { Continued )

UNIT—III

5. Answer any one of the following :

{a)-

{b)

fc)

- Comment on.

Discuss chkens Hard Ttmes as a social

" Satire.

“The best of friends ‘at the begirining of

'the novel but alienated at the end.
redeemed, the other is

One is
destroyed.” Comment with reference to
Mr. Gradgrind and -Mr. Bounderby in
Hard Times. : o
: Dickens" art  of
characterization in Hard Times.,

6. Answér any one of the following :

(@)
{b)
(c)

{d)

Briefly discuss the siglaiﬁééﬁce of
Coketown in Hard Times.

What roles do women play in Hard
Times?

Comment briefly on the significance of
the three sections in Hard Times.

How is educatlon represented in Hard
Times?

UNIT—IV

7. Answer any one of the following :

(a)

P23/1153

Discuss after Robert Browning the form
of ‘Dramatic Monologue’ with special
reference to the poems prescribed in
your syllabus.

15

15

{ Turn Over )



{b} Discuss the con_cept of nation and
imperialism in Ulysses and The Defence
of Lucknow. '

. {c) Critically assess Rossetti’s Goblin
Market as a mark of temptation,
sacrifice and saivation.

8. Answéf any one of the following 5

{a) Describe in.brief the character of the
- Lady of Shallot.

(b) What does Ulysses  advocate to his
kinsmen and his son? What according
to him is to be a king? -

{¢j What is the Fra Lippo Lippi’s views on
art? ' o ' ' -

P23--5000/1153 = 4 SEM TDC ENGH (CBCS).C 10



Total No. of Printed Pages%S
4 SEM TDC ASMH (CECS) C 8

2023
" ( May/June )
'ASSAMESE

( Core )

Paper : C-8
( QEIEEE AROR “faTs S 4 )

Full Marks : 80
‘Pass Marks : 32

Time : 3 hours
The figures in the margin indicate full marks
' for the questions . :
3| oY TR fwt Sxb=tr

(%) AR Afee)-fE 513?15 oy
aoife et Rt = =7

(%) Fwiifee (World. Literature) =W%! GG
oo AR TS ?

- (MIL) Repe afes 2RE? o

P23/988 ' { Turn Over }



(0

(®)
()

(®)

(®)

N

ol ()

()

P23/988 .

( 2 )
ferdre
‘Reception’ “FW R et 59
“foq fom oHfs oM @S TR oS
mfﬁmuﬂwwmﬁl ISR I A
=
‘mﬁz’mﬁumﬁsﬁmmﬁs?

ﬁ%ﬂﬂ%ﬁwmmmwww
AESR @S 4R HRTHE |

TR MReR e RWE @bl
Brar et | : _

T AR A G SR T
AR «fb ACAIGAT SHoRTHa |

LAS/

TG (FELE TS R N, Wt w6

*8

-8

¢

‘e

{ Continued }

( 3)
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ASS-AMESE_-.- .
( Core }
Paper : C-10
¢ SR ST GRS )

Full Marks : 80
Pass Marks @ 32

- Time : 3 hours _

The figures in the margin indicate fill marks
Jfor the questions
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4 SEM TDC EDNH (CBCS)C 8

2023
( May/June )
EDUCATION
{ Core )

Paper : C-8
{ Education in Pre-mdependent India )

Full Marks - 80 .
Pass Marks : 32

Time : 3 hours .

The figures in the margin indicate full marks
for the guestions

1. Answer the following questions : 1x8=8

fa) Write one aim of educatmn during
Vedic penod ‘

(b). Name . one . in_terfnaﬁon'ai'ly' reputed
university of Buddhist period. '

{c) Who is known as ‘Serainpore Trio™?

{d} In which year was the Charter Act
o pubhshed'>

fe}: Name the first Educatlon Commlssmn
set up in India. :

P23/995 : { Turn Quer )



(2)
(i, Mention one prdvision of the University
Act, 1904.

{9) Who was the Cha1rrnan of Hartog
- Committee?

(h} What is the meaning of ‘Nai Talim’?

2. Write short notes on the followmg (any four)
| 5x4=20
{a) .' Sa.hent features of educatmn durmg
Vedic perlod )
{b) Downward ﬁltranon theory
{¢}  Payment by result system
{d) Wardha Education Conference, 1937
{e} Simon Co_mr_ni_séion_

3. What was the nature of curriculum during.
Vedic period? Explain the relevance of Vedic
education in the present context. - 6+7=13

or
Discuss the education system - during
Buddhist period with reference to aims and
-objectives of education; curricular systern
and women education. s N 13
P23/995.. { Continued )

4.

5.

P23 9700/995 .

(3)

What is Orientalist-Anglicist controversy?
Describe briefly how Macaulay had solved
that controversy. 7+6=13

Or

What is indigenous system of education?
Discuss about the causes of its downfall in
the country. 6+7=13"

Describe the recommendations of Calcutta

University Commission on secondary and
university education system. ' 13

Discuss briefly the recommendations of the |
Wood-Abbot report with regard to general -
and vocational education. o 6+7=13

Or

What are the salient features of basic
education system? Discuss briefly the

- relevance of basic education in the present

system of education. 7+6=13

* & &
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Total No. of Printed PageH '
4 SEM TDC EDNH (CBCS) C 9
( May/June )
EDUCATION
( Core )
Pa C—9
{ Techniques of Teaching )

Full Marks 53
Pass Marks : 21

- Time: 3 hours =

The figures in the margin indicate ﬁzll marks
: Jor the questions L

1. Answer the following : 1x6=6
(_d}" Whgt" "'is-’-'tea;'c'l_"l_ing? '

(b) Write one personal problem of beginner
teacher. .

o) "_‘Mi_c:rbh-’teachi'ng'_” is" a scaléd down

teaching encounter in"class size and

- time.” Who made this stateiment? '

P23/996 | { Turn Over )



( 2)

(d) What 1s m.ea.nt.by stimﬁlus variation?
fe} Who iﬁtroduced project method?
{(f) Mention one merit of activity method of
teaching.
2. Write short notes o‘ﬁ any three of the
following : : _ 6x3=18
(a) Pre-active phase of tésiching
(b) Micro-teaching cycle
() Skill of achieving closure
(d) Heuristic method

3. What is lea.rnmg"’ Descrlbe the principles of
_leammg 2+7=9

Or

What is authoritative teaching behaviour?
Differentiate between authoritative and
democratic teaching behaviour., - 4+5=9

4. What is meant by lesson plan? Explain the
importance of lesson planmng in teaching-

learning process. . 3+7=10

| P23/996 | - { Continued )

( 3 )

5. What is play-way method? Discuss the
merits and demerits of play-way method of
teaching. 2+(4+4)=10

Or
What is language? Prepare a note on

grammar-translation method of teaching
language. 3+7=10

* ok X
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Total No. of Printed Pages—3
4 SEM TDC EDNH (CBCS) C 10

2023

( M'ay/ June )

EDUCATION
( Core )

.Paper : C’—lO_

{ Educational fl_fechnplpgy_ )

Full Marks : 80
qus Marks : 32

Time : 3 hours’
The ﬁgures in the margin mdzoate _ﬁlﬂ marks
Jor the gquestions
1. Answer the follbwing' qﬁestions  : o 1x8= 8

{a) Mention one component of educatlonal
technology.

{b) Mention one difference between educa- _.
tional technology and instructional
technology. S

fc) What is meant by E-learning?
{d) ~ Write two"cdmpdnenté of ";(')_minut_i_'ita—_ g

tion.

- P23/997 o . { Tum Over)



{ 2
fe} Who developed the Inqmry Tra.mmg
Model?
{f/ What does PSI .stand. for?
(g What is the full form of EDUSAT?
{h) Mention .o'né' quallity_ of a good

classroom communicator,

4x5=20

2. Write short notes on the following :
{a) Instructional technology
{b} Application of internet in education
fc} Nature of communication
(d} Team teaching
fe) Uses of E-resources
'3. Discuss the concept and nature of
Educational Technology. 3+7=10
4. Discuss the role of computer in Education.
How does ICT help in the process of
eva.luatlon? 5+6=11
5. Describe the steps for rnakmg commuitica-
tion effective. 10
P23/997 . ( Continued

P23—9700/997

computer-assisted instruction.

Or

“Communication plays a significant role in’

the teaching-learning process.” Discuss.

What is computer-assisted instruction?
Discuss the merits and demerits of
2+4+4=10

Or

Describe the importance of technology in
ropen and distance learning, 10

Discuss the role of peer group and
community as learning resources. S+6=11 -

Or

- What are non-projected learning resources"

Discuss their uses in the teaching- learning
DProcess. 4+7=11

* ok ok
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4 SEM TDC HISH (CBCS) C 8

2023
( May/June )

HISTORY
- ( Core )
Paper : IC‘-IS.
( Rise of Moders West—iI )

Full Marks : 80
Pass Marks : 32

Time : 3 hours
The ﬁgures in the margin mdwate Jull marks
for the quesnons '

1. Answer the followmg questlons ; 1x8=8

fa) Name the author who mtroduced the
. term ‘17th century crisis’ or general
cnms B :

{b). In whlch year d1d the Glorious_
Revo]utlon occur?

{c) Who is to be blamcd for the Enghsh_
. Civil War?

(d) Mention — one  characteristic = of
' mercantlllsm : ' '

P23/1001 N ( Turn Over )



(2 )

fe) Who propounded the theory of
universal gravitation?

{f/, Who ruled Prussia as an absolute
monarch?

fgg What do you mean by the term
‘enlightenment’?

th) Who led America in her war for
independence? :

2. Write short notes on a.ny three of the
foilomng : 4x3= 12
fa) Social crisis in the 17th eentury Europe
{b) Oliver Cromwell
{c.)- Sc1ent1ﬁc Revoluuon
{dj Development of Enhghtenment
fe} Boston massacre

3. Describe the economic dimensions leading
to the 17th century crisis in Europe. 12

R S or _
Describe the political 1mpaet of the 17th
century crisis on Italy.

4. Discuss the ‘major issues of the Enghsh
Civil War. _ 12

P23/1001 { Continued

( 3 )

Or

Write a note on the religious seftlement
made after the Civil War in England.

5. Discuss the results of the Scientific
Revolution.

Or

Describe the English colonization policies.

6. Give an account of the re1gn of Maria
Theresa of Austria.

Or
* Give an account of the reign of F_rederick the
Great of Prussia.

7. Discuss the results of the American War of
Independence,

Or

" Analyze the social and economic conditions.

in France in the 18th century.

* A ok
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4 SEM TDC HISH (CBCS) C 9

2023
- ( May/June )

HISTORY
{ Core )
- Paper : C-9
[ History of India—V (C.1550-1605) |

Full Marks : 80
Pass Marks -+ 32

Time : 3 hours

The figures in the margin md:cate Juil marks -
for the quesuons

1. Answer the following in one word or in one
sentence each . _ 1%x8=8§
'{d) Who wrote the Tuzuk—:—Bca'.iE:fan‘D o

{b) 1s Bakhar a wntten source or oral
. source?

{c) = Which- battle was fought between Babar
and Ibrahim Lodi?

{d} Who was the founder of the Sur Empxre
in India? . o R

P23/1002 S " {Turn Over )}



(2) | (3 )

fe} What is the meaning of the word Or

Mansab’? Explain briefly the military achievements of

() What is Zabt? Babar and his mode of warfare.

(g) What is kharif crop? 5. Analyze the achievements of Akbar as an

able administrator in consclidating the

Or
2. Write short notes on any three of the Summarize the main features of Mansabdari
- following : _ o | 4x3=12 system under Akbar.

{a} Ain-i-Akbari _ .
6. Describe the pattern of internal trade and

(b) Gulbadan Begum .- commerce of the Mughal Empire in. the
. 16th century. 12
J . N .
{ci agir or
{d) "OVGI'_SéaS trade of Mughal - Write about the position of Zamindars and

peasants in the Mughal period.
{e} Akbar’s theory of kingship '

R - 7. Analyze the religious outlook of Akbar on the
3. D1seuss the significance of Persian hterary _ ~ basis of his policy of ‘Sulh-i-Kul'. . 12

sources of Medieval Indian history. - 12 Or
Or What is Sufism? Narrate the main features

Give your assessments on ‘the modern _ of Sufism.
interpretation of Mughal historiography. _
o * * K

4. Give an assessment of Babar as founder of
the Mughal Empire in India. - -~ = 12

F23/1002 ' { Continued } P23——-6000/ 1002 4 SEM TDC HISH {CBCS) C-9°



Total No. of Printed Pages—3

4 SEM TDC HISH (CBCS) C 10 -

2023
( May/June ) .

HISTORY
{ Core )
.Paper : C—lO

[ I-listory of India—VI (1605-1750) |

Full Marks 80
- Pass Marks : 32

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

1. Answer the following in one word or in one
sentence each : _ 1x8=8

fa) What is the meanmg of the Persian
word ‘Tuzuk’? :

(b} Who wrote the book, smdo Mogor?

{c) Name the personal phys:man of Dara
: Shlkoh

{d} Name two Maratha families that formed
- part of the Maratha confedersacy. - '

P23/1003 L | { Turn Over )



t 2)

fe}  What colour of stones were largely used
to build imperial structures during
Shah Jahan’s reign?

{fl Who was the greatest pé.inter of birds
at Jahangir-Court?

fg) Who constructed the ‘Pearl Mosque’ in
the Red Fort at Agra?

{h) Name one French settlement in India.

2. Write short notés -oh any three of the
following : - 4x3=12
fa} Buranji
(b} Nur Jahan
{c} Awadh as historical region
{d) Regional style of Bengal architecture

| (e} The Portuguese
- 3. Expiai'n briefly the Bakhar Tradition as
important historical documents of medieval
peried. .. o . 12
o Or o
Who was Tavernier? Narrate the. account -of
his travel. in India. 7 2+10=12
P23/1003 ( Continued )}

( 3 )
4. Write briefly about the Deccan policy of
' Shah Jahan.
' Or
Describe the Nagshbandi Sufis in Mughal
Empire.

5. Explain the causes of war of succession
between the sons of Shah Jahan. .

Or

Examine Aurangzeb as a ruler. How far was
he responsible for the downfall of the
" Mughal Empire?

6. Discuss about the Pattachitra stylé .of
Paintings as heritage art of Odisha.

Or

Discuss the contributions of the Mughals in
the field of architecture.

7. What is karkhana? Discuss the role of-

karkhanas in the process of urbanization in
Mughal India. ' '

Or

Describe briefly the position of Inland trade
and Maritime trade of India in the 17th
century. '

kok ok
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Total No. of Printed Pages—4

4 SEM TDC PSCH (CBCS) C 8
2023
( May/June )
POLITICAL SCIENCE
" (Core )
Paper : C-8
| Political f?ro;:ess and Institutions in |
Comparative Perspective ) '
Full M'arks__:'S_O
Pass Marks : 32

Time : 3 hours

The figures in the margin indicate full marks
 for'the questions "

1. Answer the follQWing'_aé directed - 1x8=8
{a) Who wrote the book, The Civic Culture?
(f} Gabriel Almond _an_d”_Sidne‘y' Verba
(ii) Lucian Pye o
. (iti) Daniel Elazar . .

. fiv) A R. Ball o
- ( Choose the correct answer )

P23/1007 . ' { Turn Over }



(b)

(c)

(d)

Write one feature of traditional
institutionalism.

What is the focus of the ‘new

institutionalism’?
fij Analysis of formal institutions: of
governance _
{ii) Analysis: of informal institutions of
governance -

(m) Analysis of formal and informal -

institutions of governance
{-Choose the correct answer )

Whlch Part of the Indian Const1tut10n

makes provisions with regard to the

electoral system in India?
(i) XV
fii) XX

- ) X1

(e}

)

fiv} XIv N
{ Choose the correct answer )

Which democratic country of the world

represents bi-party system?
i) India -
(i) France
fiii) UK
fiv) USA
( Choose the correct answer }

In which year was the Treaty of

Westphalia signed?

P23/1007

{ Continued )

(g)

(H

2. Write short notes on the fdllc.)win'g :

fa)

(b)
(o

dj

In which year was Myanmar (Burma}
reverted from Democracy. to M111tary
Rule again?
i) 2019
(ii} 2020
(i) 2021 _

( Choose the correct answer }

The Indian Federation is not the result
of an agreement amongst its
component units; but it is the
Constitution which is the result of an
agreement amongst its  various
component units. '

( Write True or False }

Proportional representatzon system of
election

Two-party system -

Democratization 1n post-Cornmumst
States _
Cooperative. ' federalism in Indian
context

3. What is political culture? Discuss the
various factors influencing political culture:

How

4+8=12

| Or

new institutionalism is different from

traditional institutionalism? Explain.

P23/1007

4x4=16

{ Turn Over )



4. Explain mixed r.epresentation_ system of
elections with examples, .- o 11

Or

What do you mean by First-Past-the-Post
System? Discuss the advantages and
disadvantages of the systern with teference
to India. - : : 2+9= 11

5. Discuss the historical evolution of Nation—

‘State in Western Europe. . 11
' Or

Write an essay on the debates on Nation-
State. '

6. Discuss the three waves of de_rnocz:'atizatio_n. 11

Or _ '

Descrlbe the success of democratization 1n

post-Authoritarian period.

7. What is a federation? DiscuSs the features of

confederation.. S 447=11
oy . .
What are the different models of federations?
Explain any one model. . . - 4+7=11
* 4 &
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2023
( May/ June )

POLITICAL SCIENCE
[ Core. ) .
Paper : C-9
{ Pubhc Pohcy and Administration in India )

Ful! Marks 80
Pass Marks : 32

Time : 3 hours '

The ﬁgures in the margm mdwate Sfull marks
- for the questions :

1. Answer the followir.té as 'dire'c'ted-" ' '_ 1x8=8

fa} “Public Policy is whatever government
' chooses to do or not to do " Who said
this? :

{b) ‘Who used the. term ‘policy sc1ence for
: the first time? S

()~ The “grassroots level government of

~ federalism is 'Central Government /
Local Government/State Government/
Coalition Government :

( Choose the correct answer )

P23/1008 . (Tiin Over)



(2))

(d} Who is regarded as the father of the

- local self-government in India?

fe} The Budget is preseﬁted to the
- Lok Sabha by the President/ Finance
Minister /Prime Minister / Speaker.

{ Choose the correct answer )

{fi What is the French word of ‘budget’?

fgg Who is the appomtmg authonty of
-, Lokpal?

(h} When was the National Rural Health
Mission launched'-) :

Write short notes on the following
(thhm 150 words. each) 4x4=16

E (a) Four characters of publu: pohcy

... (b) Conditions for the success of local

self—government

o) .Objectlves of the Public Service

'30

P23/1008

Guarantee Act

{d) Challenges to food securi_ty in India .

Deﬁne pubhc policy. Dlscuss the role of

-bureaucracy in pollcy-ma.lang process. 3+9=12

Discuss the models of public policy. 12

( Continued )

( 3

4. What is decentralization? Discuss the

significance of decentralization in adminis-

Or

Discuss the significance of people’s
participation in local self-government.

5. Discuss the various stages of budget
preparation, .

Or

What is budget? Discuss the various types of

budgeting. : 3+8=

6. Explain the basic provisions of the Right to
Information Act, 2005.

Or .
What is e-governance? Discuss the
challenges of e-governance in India. 3+8=

7. What do you mean by social welfare
administration? Dlscuss its nature.

Or
. What are the objectives of NHM? Discuss the

major initiatives of NHM. - 3+8=

LI 4

P23—10*/1008 .

tration. _ : 3+8=

11

11

11

11

11

11

11

11
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2023
( May/June }
. POLITICAL SCIENCE
( Core )
Paper : C-10
( Global Politics }
- Full Marks : 80
Pass Marks : 32
- Time : 3 -hours.

The figures in the margin mdloate ﬁlﬂ' mark:s
. Jor the quest:ons _ .

‘1. Choose. the correct option/Answer the
followmg questxons : o _ 1x8=8

- fa) “Globahzatlon is the process whereby
social relations acquire relatively
distanceless and borderless qualities.” .
Who defined it? (John Baylis and: Steve
Smith/Held and McGrew/Joseph Stiglitz)

(b} “Sovereignty is the most important
constituent element of State and there
can be no State without a sovereign
power.” Who defined it? (Bodm/ Lask1/
Hugo Grotius)

P23/1009 - { TurnQver )



(c
(d}
(e}

{g)

()’

What is the full form of SAP?
What 15 the full form of CTBT?

“Terrorism constitutes the illegitimate
use of force to . achieve a political

‘objective when innocent people are

targeted.” Who defined it? (Walter
Laqueur/C. J. M. Drake/Goodin)

Who is the author of the book, Global
Environmental Governance? (Speth and
Haas/Rachel Carson/Barry Commoner)

The author of the book, Theory of
International Politics is Kenneth Waltz/

Michael Waltz/Joseph Keohane.

When did the UN publish the report on
‘New Dimensions of Human Security’?

2. Write short notes on the following within
150 words each: 4x4=16

(aj -
: _World Countnes

)

fc)
{d)

‘P23/1009

Impact of globalization on the Third

Four maJor 1n1t1at1ves of the World

~Bank

Role of Amnesty International
Concept of climate change

{ Continued )

(3

3. Define globalization. DISC‘U{SS the features of
globalization. : 4+8 12
Or
Define sovereignty. Discuss the basic
characteristics of sovereignty. : © O 4+48=12
4. Discuss the objectives, functions and working
"~ of International Monetary Fund (IMF). 4+3+4=11
Or
What do you mean by global social
movement? Discuss its features. 4+7=11
5. Critically analyze India’s Nuclear Policy,
1998, 11
Or
Discuss the major prov131ons of Compre-
hensive Test Ban Treaty. _ . 11
6. Define migration.' Discuss the major factors
responsible for migration. : 3+8=11
Or
What do you understand by the term
‘human  security’”? Discuss . the major
initiatives of the UN for ensuring human
security. _ 3+8=11
'P23/1009

' { Turn Qver )



4

7. Discuss _the,-fnajo_r_ problems and issues
. relating to developed and underdeveloped

countries. - 11
or
Discuss the role of global governance in
contemporary world. i1
Ak *
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